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Question Number : 1 Question Id : 813561321 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If sec(x) = cosh(#). then find tanh?(8/2)

sec(x) = cosh(8) eons, tanh?(6/2) =
Options:

. Sec?(x/2)
5 tan?(x/2)

., tanh®(x/2)

sech?(x/2)
F
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Question Number : 2 Question Id : 813561322 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

The equation of the tangent to the parabola y? = 12x, which makes an angle 30° with the
positive direction of x-axis is given by x — /3y + 9 = 0. then its point of contact is

v = 120 0750038, 1 - wFo B& B38 30° Eo B2 008w ¥ - V3y+9=0
90007, "n')bdg eilorm;;:;

Options :

—9,-64/3

 (-9,-63)

1.

- (9,-6v3)

L. (—9,643)

4}[9,5«;3)

Question Number : 3 Question Id : 813561323 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical
dZ
The solution of = () represents
dx?
d?y
—e= i S ATFWA0S
dx? - =
Options :

straight lines
1 & POF0eD
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a circle
28 ydaw

a parabola

3 % 205 DT°DV0I0W

a point
208 Dot

Question Number : 4 Question Id : 813561324 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

There are two dice 4 and B . Die A has 4 red and 2 whate faces and B has 2 red and 4 white
faces. A coin 1s tossed once. if it shows head. die A 1s rolled, if it shows tail. die B 1s rolled if
the probability that die A 1s used 1s (32/33) when it 1s given that red turns up every time in
first n throws, thenn =

A 28050 B 95 Both Fridden t—,éllg). A 3¢ D 4 QD) 2 ) Gothen T .
B 0% 308 2 a0%) 4 3e00)) Gofhen VT, 8 THAV JNGEINTH. TR 6
30y 3019 A I, TS B DL Bhodord. 2068 n HaHe) Jwed’ 98 2

D02 S0 0 AN A FDE EDAIrPotHVL Dorryd (32/33) wand n =

Options:

5

1.9
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Question Number : 5 Question Id : 813561325 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
Vertical

w4

J dx _
! cos3(x) - 4/ 2 sin(2x)

Options :

3. % 9

Question Number : 6 Question Id : 813561326 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

I n!
im - =
n—ow (n + 1)! —n!

Options :
1

1. #
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Question Number : 7 Question Id : 813561327 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

2
f lx] dx =
Z1

Options:

Question Number : 8 Question Id : 813561328 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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Which of the following is false?
1) If (a, b, c) are direction ratios of a line, then a® + b2 + % = 1
2) The direction cosines of a line can be its direction ratios but not vice-versa.
3) If (I,m,n) is one set of direction cosines. then (-1, —m, —n) is also a valid set.

4y If (I;, my, ny) and (15, my, n,) are direction cosines of perpendicular lines. then

Ll +mymy; +nyny =1

& S8 TS 2O dadw T?
1) (a,h,¢) w28 89 &S doaywond a?+bhi+ct =1
2) s 0o BS S0 B8 Dofen B i) 060 dzo S
3) (L, my, ny) BE 300 wawd (-1, —m,—n) w Sre- wHTAD
4) (=1,—m,—n) 08030 (I, m,, ny) Botd vordaIw &S &80 and L, +
mmy; +nny =1
Options :

1. % 1

Question Number : 9 Question Id : 813561329 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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If the sum of the roots of the quadratic equations is 1 and sum of the squares of the roots 15
13. then find that equation

QY Adaw T, rere S070 Andaw 137 0ol rereid v of NI

Options:

 x X +x=6=0

¢ Xt —xt6:=10

2.
Bv,xz—:q'—{i:ﬂ
g% X2 +x+6=0

Question Number : 10 Question Id : 813561330 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If a diagonal of a square is along the line 8x — 15y = 0 and one of its vertices 1s (1,2). then

the equations of the sides of the square passing through this vertex are

8 O3 8 €841 Bx — 15y = 0 206050 2 960 (1,2) 000, AN
3300308 (1,2) 3620 ot Jeh 2are HRSGT

Options :

1 % 23x -7y +9=0, Ix+23y+53 =20

o 23x—7y—9=0, 7x+23y-53=0

3 % 23% +-7y -9 =0 Tx +23y -53'=10
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23x+ Ty —9=0"7x+23y +53 =0

Question Number : 11 Question Id : 813561331 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: tand tanB tanC 5 5 5%
In triangle ABC . : 3 1 then the value of sec” A 4 sec” B - sec” ( =

i tand tanB tanC 5 5 5
ABC @zbadnd’ = T, Powd, sec” A +sec” B +sec” C =

Options :
101

1.% 8

T
8

w

#
[y
oo
i

Question Number : 12 Question Id : 813561332 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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x2+x+1 B C ,
= A+ + > then A — B 1s equal to

2242x+1 x+1  (x+1)

xZ4x+1 B C
= e A + ——— 00D 4 — B Dend Jdod?
xZ+2x+1 x+1  (x+1)2

Options :
4C

1. %

. 4C+1

Question Number : 13 Question Id : 813561333 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following is false?

1) If Ais askew symmetric matrix of order 5 X 5 . then the rank of A is less than 5
2) If P is a nonzero column matrix and Q 1s a non-zero row matrix. then the rank of PQ
15 1
1 2 3
3) Rankof|2 3 4|is2
5 6 7
4) If the lines a,x + by + ¢, = 0 (r = 1,2,3) are distinct and intersect at a point, then
a; by ¢
rankof | @y by ;|53
a; by 04

& $08 TS A0 wmgma?

1) Aug5x5 a8 ﬂ“%m Sr9s wond, S8(A) 5 Soff SR
2) P a8 3079080 Juod) 600 @8, Q 2.8 HrI[B6 e S0 Ar3S, wowd
E8(PQ) 1 eorbosdd

1 2
3) 882 3 =2
5 6

=1 =

1) ax+by+e,=0(r=123) w D) 0¥ Spud Ardedi. &

a boo
oGy w8 Do)d’ dodooun) ,E0 | a; by ¢ [=3
a; by ¢
Options :
1. % 1
2. % 2
3. % .
4. *
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Question Number : 14 Question Id : 813561334 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the correct option regarding the following statements

(1) Cp+Cy+Ci++C,=2"tifniseven
(i) C;+C3+Cs++Cpy =2"tifniseven

$0d DIHBTR BT BN B JotS od,
(1) Co+C+Cs+ - +C, =2"1 n %0 eo0d
(i) €y +C3+Cs+ -+ +Cphy = 2" 1. n 20 200
Options :

(1) 1s true. (11) 1s false
(1) RSO, (11) RIRS[D

(1) 1s false, (11) 1s true
(1) w“ﬁ}ej?gm, (11) *ri:wj?g;ﬁn

Both (1) and (i1) are false
(1) S0dadw (i1) e SIS TIPSR LIS

Both (1) and (11) are true
(1) Sudodw (11) ew RS20

Question Number : 15 Question Id : 813561335 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The number of different words that can be formed from the letters of the word

“INTERMEDIATE" such that two vowels never come together. is

“INTERMEDIATE” % $653008" 016300: D B0t 0w 98,98),3 Sdor
028\ I DOE DE20L Roay dot?

Options:
6! 7!
1 % 21 2131
ol &t
> % s s .
il |
6! X d
6! 6!
4. 21 213!

Question Number : 16 Question Id : 813561336 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A straight line 1s drawn through the point A(1, 2) such that its point of mtersection with the

straight line x + v = 4 is at a distance v/6/3 from the given point ‘4’. Find the angle which

the line makes with the positive direction of x-axs.

A(1,2) Doty oot TFDertn AP 28 DE¥ED x +y = 4 B docod Dotidey) ‘A’
Qo) 16/3 0T Brdols’ Gotd, &5 62 x-4xy) (% BIE BSok) Frdw Jod?

Options:

1_&'5:15” & 75
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2. %
, x 0=45° & 60°
, « 6=60° & 30°

Question Number : 17 Question Id : 813561337 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In an apartment there are 30 kids. If each kid plays table tennis with other kid. then the total
number of matches played by them

28 w&gﬁoﬁ & 30 006 Y &7 @. D8 DRI DAY D HYTAS BAS B D

sONS, DYy eid odo BRIV Vo)

Options:
30
C
1. 2
30
P
2. % 2
| gy
3. % 2
30
4, % P

Question Number : 18 Question Id : 813561338 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The curve 3y? = 2ax? + 6b passes through the point P(3,—1) and the gradient of the
curve at P is “—1", then the values of a and b are

3y? = 2ax? + 6b S840 P(3,-1) Dodod) oot ﬁﬁ@masl&. P Doty 96 Q) &
(Tren) “—1" e900&. @ B0 h DenHen S AL ?

Options :

1.9
-1
= b=
2. % -
1
a:?,b:l
3. % =
—1
a=— ,b=-1
4. % 2

Question Number : 19 Question Id : 813561339 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

, , 1
J [lag(_lﬂg:{) % m dx =

Options :

- x [log(logx) + logx] + ¢
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x
log(log x) e

xlog(logx) + ¢

1
- 1 ] L .
» X [ﬂg( 0g x) i +c

Question Number : 20 Question Id : 813561340 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the correct option about the matrices given below

808 ATAEL (BOD) POITDIE DotE ol

i s . w
cos— sin— O - 0 0
. * 0 CDSE sinE
e 2 T s E— E:
A —sin— ecos— O B = 3 3
2 $ 0 sinl cosi
0 0 1 3 3
T g ™ Frs 3 T
cos— 0 sin— cos— sin— 0
6 6 2 2
— . = . T T
C= 0 1 0 D= —aint weal
. I 13 0 2 2
—sin— cos—
6 6 0 0
Options :

2020 _
| A=

5 % BEGZU —3

2019
L x DOV =1
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BZGZE — ]

Question Number : 21 Question Id : 813561341 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ina AABC, £C = 60° and 24 = 75°. If D is a point on AC such that the area of ABAD is y3
times the area of ABCD. then the measure of ZABD 13

ABC Soman®’ £ = 60° 50800 £4 = 75, D 098 *BAD §%u) pTeiw =
V3 X BCD @abai) Do’ & 82 0B AC e 2 Do) waws, LABD e dod?

Options :

1 ¢ A0°

, w 45°

3 % 60°

90°

Question Number : 22 Question Id : 813561342 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The value of x m (0, g) satisfying the equation (sin x)(cosx) = e

. . 1
(sin ) cos 1) = — D8GR3 B ocns (0,5) woans’ god x oo __
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Options :
T

1.% 6

=i

=
=

Question Number : 23 Question Id : 813561343 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The lines ax? + 2hxy + by? = 0 are at right angles if

ax® + 2hxy + by? = 0 HrDodd Baren voeBen e9ond

Options :
1.¢a+b={}
Z_u“‘[“b:l
3« h*—ab=0
4% a=bhb

AP EAMCET 2020



AP EAMCET 2020

Question Number : 24 Question Id : 813561344 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In an ellipse. two vertices are (5, 0) and (0, —4). Then the equation of the ellipse is

(5,0) S080s0 (0,—4) Igrenrr o GG9,8 HEGERA0

Options :
LA ol

1 % 16 25
x2 2
e e |

24254—16
x2 2

3 % O 4

4 % xZ +y2 =41

Question Number : 25 Question Id : 813561345 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
b=c b

Find the value of *k . if it is given that J. fx+cldx =k f fx) dx
0 c

Options:

c

]
f(x+c)dx =k J’f(x] dx evo0d. k =

1.4
AP EAMCET 2020
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Question Number : 26 Question Id : 813561346 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u and v be two non-zero vectors. Then the magnitude of the cross product u X v 1s always

u, v %\355@6 NBIVS BR) Ve 5 VYo U X V AWS), AT
Options:

RS lul|v|

= |ul|v|

W

|| ||

Question Number : 27 Question Id : 813561347 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The differential equation of the family of all straight lines passing through the origm is

2P0 Mol Jiah Far S8 VISV PAECEAD

Options :
dy
R
1 % Y dx
dy
2 S dx_
dy
V=X
3 dx
&y _ ¥
4 % x2  x

Question Number : 28 Question Id : 813561348 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Let the complex numbers @ and (1/a) lie on circles (x — xg)% + (v — yo)? = r? and

(x —x0)? + (y = y)? = 4% respectively. If z, = x, + iy, satisfies the equation 2|zo|? =

r?+ 2 then |a| =

@ 8050 (1/a) %088 Romfud SWRM (x - xp)* +(y = yo)* = ¥ BBt (x - x1p)* +
(y—yp)* = 4 3500 69)d. 28 :aoég oa 29 = xg + iy, 2zel* =17 42
RDSOTTD) By 03, o] =

Options :
1

1. % V2
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S| =

)

w |+

w

Question Number : 29 Question Id : 813561349 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

T2
J eSINX nogy dy =
0
Options :
1.8 1—e
5 % 1+e
e

4. ®

Question Number : 30 Question Id : 813561350 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020
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Suppose X has the following probability mass function P(X = 0) = 0.2, P(X = 1) = 0.5.
P(X =2) = 0.3. What E[X?] =?

X e afresyOng o 038 derad pdoe P(X = 0) = 02, P(X =1) =05, P(X =

2) = 0.3 wond E[X?] dewsd

Options :
2.89

1. %

, v 170

;% 110

121

Question Number : 31 Question Id : 813561351 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
P PO
fw: —1 (_1' v+ 1) dy =

Options:
lnlx + Va2 — 1| —Sec (x) + ¢
1.+

- lnlx —yx? — 1| — Tan M(x) + ¢

- lnlx +x? — 1| + Sec 1 (x) + ¢
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. lnlx +vVx2 —1|—Tan 1(x) + ¢

Question Number : 32 Question Id : 813561352 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let ABC be a triangle. Let u = AB and v = AC. I D is a middle point of BC. then AD =

ABC 9zbasns” u=A4B, v=AC 208050 BC & D 305§ Dotkod) waws, AD =

Options :

u-—-v

1. 2

T—u

u+ v

u+v

Question Number : 33 Question Id : 813561353 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

a™ + b" is divisible by . if n 1s any odd positive integer
28 1 83 gesIS a” + b" @ D3 D30T erhHotseIcdBI0d
Options :

AP EAMCET 2020
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a?® + b?

a+b

Question Number : 34 Question Id : 813561354 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the smallest circle passing through the intersection of the lime x + y =1 and
the circle x% + y2 = 9 is

4 yE =9 38w DBokw ¥ +y = 1 890 Potd Dot T ey ©3 ) 0

Options :
1w,‘t22+jrz—9—(x+};+1:}:{j
x24y2—-9—(x+v—-1)=0
2.9
- R N A
3'23:{ + ) g —xt+y—1=10
BUE 2 R
4% XY 2t yyp=1=0

Question Number : 35 Question Id : 813561355 Question Type : MCQ Display Question
AP EAMCET 2020
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

| atib ctid G| BB so=wl] . G
If 4= —ctid a—ib and A _I—Hid - ‘Fmd(n + b+ +d)
| a+ib c+id g | atih —c-id 392 2,
| -c+id a—ib]maMA _I—Cﬂ'd a—zb]wma(&m i
Options:
1.4 1
—4
2. #
3. % f
4, % 1

Question Number : 36 Question Id : 813561356 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

lim(1 + 3x)%/* =

x—+0
Options :

1.“6

AP EAMCET 2020
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4% €

Question Number : 37 Question Id : 813561357 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u, v and w be vectors such thatu+ v+ w =0, |u| = 3,|v| = 5 and |w| = 7. Then the
angle between u and v is

w,v,wendd3w u+v+w=20ul=3,|v| =5 dcsw |w| =7 eond u.rve 206
a0

Options:

Question Number : 38 Question Id : 813561358 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A circle 1s drawn touching the x-axis. with its centre at the pont of reflection of (m,n) on
the line y — x = 0. Then the equation of the circle s

y—-x=008 ‘35%“73 (i, 1) Dotk AWE), PBDeer) So@3r §HH Gotar, 1-02)
2y 803 S8 PEHAN
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Options :

x4 y? —2mx—2ny4+m?=0

- x2 4y —2mx+2ny+m?=0

3 % x24+yv24+2nx—2my—n? =0

4@ X2+ y?—2nx —2my +n*=0

Question Number : 39 Question Id : 813561359 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Number of roots common to the equations x* + x2 —2x =2 =0and ® —x* - 2x +2=01is

w34 x? =2 — 2= 0 0Bk 1} — x% — 2 £ 2 = 0 HEdErY eméd 24Pere o

Options:

1.% 1
). 2

3. % 3

4. ®

Question Number : 40 Question Id : 813561360 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

InadABC, b:c= \.-"g : \E and the angles 4, B, C are in A.P. then £A =

ABC 8202208 bt ¢ =3 1 /2 208080 4, B, C &0 ot 3A6°(A.P) &old, 24 =

Options:

| 45°

, % 65°

Question Number : 41 Question Id : 813561361 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a game. a person wins 5 rupees for getting a number greater than 4 and loses 1 rupee
otherwise, when a fair die is thrown. A man participated in the game, but decided to quit as
and when he gets a number greater than 4, Then the expected value (mean value) of the

amount he wins/ loses 1s

w8 )’ AT 8 33‘3;’3.5 TG JEIDDE 4 E‘»K)l Dé}bb 305‘5‘35 DG S 5
draronen 0D, S5T'8 1 draron e, gtndot) e’ us It &%3“;5“1@,
Ta U 4 $30) D893 R0 DA Do B8 DBVETL 0B AFEWEET) (0.
w2 e 103 S saYab ¢rd8 S0e5a dod?

Options :
9
1 % 19
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Question Number : 42 Question Id : 813561362 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If o and B are non-real roots of x® — x2 — x — 2 = 0 then 2020 + 2020 4 ;2020 p2020 —

@ 200080 f @0 x® — 1 —x — 2= 0 8 TR voed 5 Areswe. @0 + 20 +

a,Z{}Z{] _ﬁ2020 y

Options :
1

1. %

2020

. 1+a+f

Question Number : 43 Question Id : 813561363 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

iT

dy
Hy= |2 2(2 —H) then — atx =—
3 \/x-!—ccs x+4 len - atx ="

L [ 2 {5, 4% ey .1
y = [2x + cos (2:4. +4) ©od, == Dend, ¥ = 3G

Options :
21,,.§
1 Yym+l

2T+ 1

|

3 % Vir+1

=5
r3|

©
-
= |
+
[y

Question Number : 44 Question Id : 813561364 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If @ is the angle between two vectors 7 = 37 +47 — kand § =27 — 7 + kthen, sin(a) =
P =3T+4] - kaobaso 7 =21 - ] + k460 Sogf Emiw « 0o, sin(a) =
Options :

'145/
133\1 156
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3. %

Question Number : 45 Question Id : 813561365 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A polygon has 54 diagonals. The number of sides of this polygon is

2,8 wozbRe” 54 030000 &S, o v R0

Options :

1. 12

Question Number : 46 Question Id : 813561366 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Equation of the perpendicular bisector of the line joming the pomts whose position vectors

are @ and b respectively is

T 208050 b &0 Both Dot g“a"fo&ém % DoV SR Taraota TS,
LR BerdEsmSw

Options:
_— (2?' — —b].(a —b]:{}

(2r —a —b).(@+b) =0

2. %

L« @+T+D).(@-D)=0

L« @F—aT+b).(@+b)=0

Question Number : 47 Question Id : 813561367 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The angle between the straight lines x? + 4xy + y? = 0 is

2%+ dxy +y? = 0 2rDodd Bade 26; e

Options:
1. % 30

5 % 45°
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60°

90°

Question Number : 48 Question Id : 813561368 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f(x) = x* — x® + 7x? + 14. then what is the value of f'(5)?

F(x)=x*— 23+ 7x% + 14 0. f'(5) Dewd

Options :
594

1. %

Question Number : 49 Question Id : 813561369 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The radical centre of the circles x> + y> —4x — 6y +5=0.x2 +y2 - 2x—4y-1=0

and x% +y% —6x — 2y = 0 is equal fo

Kyt —Ax—6y+5=0.x"+y*—2v—4y—1=0 208000 x* +y*—6x—2y =0
STV Jrwdetio BN
Options :

(33 20)
£ *3

1. %

Question Number : 50 Question Id : 813561370 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

To which point the origin is to be shifted in order to eliminate first powers of x and y (x* and

v terms) from the equation 4x% +9y% —8x +36y +4 =07

4% + 9y —Bx + 36y + 4 = 0 28608 1! 208010 v 0 §°50d Baerds
2P0 D Doty HEL 76y ITR?

Options :
. G523
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s o (1.22)

Question Number : 51 Question Id : 813561371 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: . . . . . 2. . =2,
The combined equation of the lines passing through the origin and having slopes = and Ik

2 =2
20r0doddd) Mot Jdr T S VlalesV 5 TR o G Nootrf) 2AE6RAD BVdd

Options:

2x%2 —9y2 =0

1. %

5 % 4x% —xy—9y2 =10

_— 4x2 —9y2 =0

4w 42 + xy —9y%2 =0

Question Number : 52 Question Id : 813561372 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Let PQ and RS be tangents at the extremities of a diameter PR of a circle of radius r such that
PS and RQ intersect at a point X on the circumference of the circle. then 2r equals

r J‘Sﬁ"go 0 2,8 B TR PR D360 H3% Hy0\800 PQ Sodakw RS e, PS 2Bk
RQ w0 Sydan aiog), 2082 w8 Dot X 36 DoLoUIRIIL® &) 0N WY 2r =
Options :
\fm

1. %

POLRS

v

2PQ-RS

5 x PQ+RS

J(PQ}EHRSJE
2
4. %

Question Number : 53 Question Id : 813561373 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If the line joining the points (k, 3,4), (4,7,8) is parallel to the line joining the points

(-1,-2,1), (1,2,D) thenk +1 =

(k,3,4), (4,7,8) Dotodpody &dd 8 (—1,-2,1), (1,2,1) Dodopwa ¢85 darso
DAToddor &obd, k1 =

Options :
2

1. %
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Question Number : 54 Question Id : 813561374 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical
1 — cos(2x) + sin(x)
sin(2x) + cos(x) -

Options :

1 % sin(x)

5 % cos(x)

o fan (x)

. cosec(x)

Question Number : 55 Question Id : 813561375 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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19

Find Z f(t) if f:R— Risdefined as f(x+v) = f(x) + f(¥), x,y ERand f(1) = 7

=1
39
f:R— R 2apaw f(x+y) = f(x) +f(v), 1,y ER opdr f(1) = 7 wows, Z f(t)=
t=1

Options :
5187
=

, » 5460

5407

Question Number : 56 Question Id : 813561376 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The value of *k” for which the function f(x) = k(x + sinx) + k is increasing, 15 equal to

Fx) = k(x+sinx) + k esBire gidoaban eod, 'k Dend (2Bod D Axdorsivo?

Options :
k<0
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Data Insufficient
GSTroB00 wﬁo@gm

Question Number : 57 Question Id : 813561377 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A number is selected at random from the set {1,2,3,4, ++++++,1000}. then the probability of
getting a number which is a perfect cube or a natural number having odd number of divisors is

{1,2,3,4,+ 1000} 208 Aok 2,8 ‘n}oasgm WQQDQS:)JJW QotE A, ?3‘&}0895 s

'r’ooa,aé CROS), VDA 00 PRSI0 "foaanlg &30 8900 "n:::ﬂamoa;é e9r)e)s) "rooe;ﬂ::sefs

Options:
481

1« 500

483
, % 500

479
500

477

500

Question Number : 58 Question Id : 813561378 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A homogenous equation of second degree in x and y represents which of the following?

X,y 08 Bold 60 0T HE0RAD B Ardied?

Options :
Two lines
Todh) ROFCnLA

A pair of straight lines through the origin
200D Mot 'O Tarros) DD

Only one line through origin
Aaredotind) ot D'ad 28 B

A circle whose centre 1sn’t the origin

4% 200NN SoGANTT G0k DT

Question Number : 59 Question Id : 813561379 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 4cosx + 3sinxy = 5. then find the value of tanx =

4eosx +3siny =5 2008, tanx =

Options:
3
v %
+
2. % 3
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3. %
—4
4.% 3

Question Number : 60 Question Id : 813561380 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find a*+ f* if a, f are the roots of equation x2 + x + 1 = 0.

4 x+1=05% dreren a, f e wond, at+ [ Dend doeh?

Options :
1
% P

Question Number : 61 Question Id : 813561381 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Given that lines Ly: v = myx, Ly: v = myx and Ly: y = m_x make equal intercepts on the

line x +y = 1. then

Lizy =mgx, Ly:y = myx 08030 Ls: y = mox 8000 x +y = 1 62 R Boddpec-ed

26,09, $08706" DB Jadw?

Options :
- 20+ my)(1+m) = (1 +my)(1+m,)

5 ¥ 2(0+my)(L+m.) = (1+mp)2+my, +m.)
- (1+my (A1 +my) = (2+m)(1+mg +m.)

4 % (14+my)(1+mp) = (1+mp)(2+my +m,)

Question Number : 62 Question Id : 813561382 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

k—2 2k—3 3k — 4
Find thevalveof k. if |k —4 2k—9 3k—16]|=0
k—8 2k—27 3k —64

k—2 2k=—=3 3k —4

k—4 2k—9 3k—16|=0 ®ond. k=
k—8 2k—27 3k—64

Options :

1. % L

2. # i
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Question Number : 63 Question Id : 813561383 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The lengths of the sides of the rectangle of greatest area that can be mscribed in the ellipse

xt 4 4y% = 64 are

4+ 4y? = 64 683)308" dodtdDocsriv) (1B DTV BPABY Zherw Tepww
S0 R0c.

Options :

4w 16V2, 42

Question Number : 64 Question Id : 813561384 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Equation of the line passing through the tersection of the plane x + 2y + 3z = 4 and the
=1 yHE zrl

line R and parallel to the vector (27 —=3j) x (1 +27 - k) is
1 %11 Bl
X+ 2y + 3z = 4 03008 - POUBDL (10 Yot Mol T

(27 =37) X (1 +2] - k) 2035 2370B62001T A0f 662 LDLGRA

Options :
x—o =1 2+

Question Number : 65 Question Id : 813561385 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The area of an equilateral triangle inscribed in the circle x2 + v — 6x + 2y — 28 =013
square units

X2 +y% = 6x + 2y — 28 = 0 5,80 506 wospDosnds DErTVYHR DTV
£662) Cark

Options :
273

1.% 2
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Question Number : 66 Question Id : 813561386 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

fa=214]- 3k and b =37 - T 2k . then find the angle between the vectors

24 +b and@ +2b.

T=20+) -3k &8aw b =31 — ] +2k wowd, 2a + b 28ako @ +2b vd%w
065§ Eeas

Options:

36
{:{]3_1 (,:)
. V42 x 35

Cos 1 (?—L)
W24 X 32

1.

52
Cos™ 1L (:)
3 V74 X 65
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C{]S_l (E—L)
18 X 32

Question Number : 67 Question Id : 813561387 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

ForA,Band C.ifA+4 B + C = 0, then sin(24) + sin(2B) + sin(2C) is equal to

AB Ceows A+ B+ C =0e008,sin(24) + sin(2B) + sin(2C) =

Options :
- 4sin(A4) - sin(B) * sin(C)

. 2 sin(4) - sin(B) - sin(C)
3 @ —4 sin(A4) - sin(B) - sin(C)

4 % —2sin(A) - sin(B) - sin(C)

Question Number : 68 Question Id : 813561388 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Hf(x) = Vx+2V2x—4+ Vx — 2VZx — 4. then the value of 10 X f'(102)=

FO) = Vr+2VZx — 3 +Jx — 2VZx — 2 waws, 10 X £/(102)=

Options:

1.«'-«*’1
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Question Number : 69 Question Id : 813561389 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If (@, 8) is a point on the join of (2,5) and (4, —1) then

(2,5) S08odwn (4,—1) DotrpvR 89D 32 (a,8) w8 Do) oS,

Options :
8
a=—
1. % 3
3
a=—
2. % d
3 v a=1
a==1
4. %

Question Number : 70 Question Id : 813561390 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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cos 7x — cos 8x
f 1+ 2cosbx

Options:

1
sinZ2x ——sin3x + ¢
1. % 3

i S |

—sin2x ——sin3x +c
2.4 2 3

i S .

—sin2x —sin3x 4+ ¢
3. % Z

L 5 o s

—sinZ2x ——sin3x + ¢
4. % 3 2

Question Number : 71 Question Id : 813561391 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

15
In the expansion of (EJE + %»E)

(33+32)" dpoes”

Options :
Number of rational terms 1s 3

- 9EEE303) DGV Ro8) 3

Sum of all rational terms 1s 58

|y ©SCROD DAZNL DS 58
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Sum of all rational terms is greater than the sum of all irrational terms
SCE0H DEB0L JNGB SEEOD DEBVL JGBW Kol DGO

Sum of all irrational terms is greater than the sum of all rational terms

SORCH DEAVL DB VGEODH DEIVL ANVBIW ol DGO
4.9

Question Number : 72 Question Id : 813561392 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

EvahlareJ’ sin(Vk ) dk on (0, )

(0,0) J sin(Vi ) dk =

Options :
2[{*.08(1-@) —Jk sin(x@)] +c
- 2[::05@"?) + ﬁ,-’I‘rE?SiH(M':‘;I_C)] +c

Z[v"E ::::as(w,-“'m — -sﬂ? sin(ﬂa] + ¢

2[sin(Vk) — Vk cos(VE)] + ¢

Question Number : 73 Question Id : 813561393 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
AP EAMCET 2020
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The binomial distribution whose mean is 9 and whose standard deviation is I equal to

3
©908 S0 9, FArs DddAR ' o) 86 DETRAAN LB

Options :

ar i

Question Number : 74 Question Id : 813561394 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the normal to the curve x = a cosh(t). y = b sinh(t) at any point t is

x = acosh(t), y = bsinh(t) 35798 DED Dockoid) t 56 A edewoeids LGN

Options :
e ax +by = a’ + b?

,  axsech(t) + by cosech(t) = a? + b?
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. ax sech(t) — by cosech(t) = a? — b?

ax by

ol 2
4. % sinh(g) + cosh(t) BEh

Question Number : 75 Question Id : 813561395 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the function g(t) if f(£) = 3t- 2and (gof) 1 () = ¢t — 2.

f(t) = 3t- 2 8ok (gof) ™ (1) = t — 2 @A, g(t) POIr) BwdoC.

Options :
(t—8)
. g(t) = =
(t+8)
gl(t) = 2
2.
. B
. g(t) = =

. 9(t)=3t—8

Question Number : 76 Question Id : 813561396 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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d
dx

Options :

(ElmgE V1+tan? x) _

sec?(x) - tan(x)
sec(x) - tan®(x)
sec(x) - tan(x)

tan?(x)

Question Number : 77 Question Id : 813561397 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The equation of the tangent to the parabola y? = 16x. which is perpendicular to the line

3x —4y +5=01s given by

y? = 16x Do°H00IrAS, 3x — 4y + 5 = 0 20¥00D Votlom &ok “n};)%éa,) 8 6E30

Options :
4x —3y+9=10

4x +3y—9=0

2. %

4x +3y+9=0
3.9

4% Pt —3y —9=1
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Question Number : 78 Question Id : 813561398 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

-7
Find the equation of the normal to the curve y = L at the pomt where 1t cuts the x-axis.
T (x-2)(x-3)

=7
y= % £9R) 5, x-eﬂs"bl Docotd Do) bg 9008 BaridDE0maAn SR A0
Options :
| % 20x+y+140=0
5 % X 20v —140=0

. X+20y+140=0

4, v 20x+y—140=0

Question Number : 79 Question Id : 813561399 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The solution of the differential equation cos(x + v) dy = dx given that y(0) = 0 is
y(0) = 0 900, cos(x +y) dy = dx @380 HE6H FEd

Options :

x+
V= ftan (T}’)

1.+
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: (x+y)
vV =858INn|{—
% 2
y = tan (i)
5% Z

2.

3.

= tan (2)
. y =tan |-

4.

Question Number : 80 Question Id : 813561400 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following equations has roots which are negatives of the roots of the equation
Poxitr-4=0

287" 13 — 12 +x — 4 = 0 AEBHo amog), Sarwws) 31838 wden $DAY Loy

AAPerRIIT 10 EPSrodd HEVESmo
Options :
xP—x%2+x—-4=0
1. %
3 * _
5 o x4 =10
e S
3 a3 - _
4 % x"—x"—x—4=0
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Physics
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 81 Question Id : 813561401 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A transformer works on the principle of

HBDGEH1 D AR RBetLA 7

Options :
selt-induction

Qo0 I0E

electrical inertia
E)cﬁaéei 2ESBH0

magnetic effect of electric current
DS DT BV, €903, 0BT D5

mutual induction

Sy 2o
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Question Number : 82 Question Id : 813561402 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A proton moving with a velocity. 2.5 X 107m/sec . enters a magnetic field of intensity 2.5T

making an angle 30” with the magnetic field. The force on the proton is

25 X 107m/sec 608 2 Terdy 25T 00F) 08 F8206° 30" & 950G,

TFerso DA HABD LA

Options:

—12
% 3 X1071N

~12
2'\_’,5}{1[} N

6 X 10712N
3, %

9 x 10712N

Question Number : 83 Question Id : 813561403 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A person of mass M = 90 kg standing on a smooth horizontal plane of ice throws a body of
mass m = 10 kg horizontally on the same surface, If the distance between the person and
body after 10 seconds 1s 10 meters the K.E. of the person (in joules) is

90 kg B5(0°2 (10 28 a2 Do) CVE); £B2 VATFBE Swop ey 10 kg G2
0 S0 82 HATeBsANT DT 10 2L ST IS SWPHD S0
P60 10 i eand 202 (123 (F¢5°) B,

Options :
1. o 0.45 J

3 % 09017

4.33 DJ

Question Number : 84 Question Id : 813561404 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A horizontal overhead powerline at a height of 5 m from the ground and carries a current of
150 A from East to West. The magnetic field directly below it on ground is

28 HAT086 BUPME BD) DS T Zr BV Bl 5 m A" 150 4
oS D) S8R Burcy Kool HEDGD PITB. HNSTT T ot I
&) BODTY oS FEAD
Options:

6 X 107% T towards South
| o &0 DN 6X 1076 T
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6 X 107° T towards West
DEAC DD 6X 1076 T

7 X 107 T towards East
SPEN PW 7 X 107°T

8 x 1077 T towards North

4w G862 DP8X107'T

Question Number : 85 Question Id : 813561405 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The tension in the spring 1s
oh &' BJS

sNa——HINI— . s N

Options :
1 % 0N

10N

L x 25N

4.%?,51'\?’
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Question Number : 86 Question Id : 813561406 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The door of an operating refrigerator is kept open. As a result. the temperature of the room will

TEIB03) 8RB s 38ATD. trd K0T (6 Gl ds

Options:
remain unchanged

_— 29083 Got (ATr6ed)

increases
v ulehlablvh

decreases

5 O

depends on the contents inside the refrigerator
. 02RO Gok T STEHE

Question Number : 87 Question Id : 813561407 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If 60% of the kinetic energy of water falling from 210 m high water fall 1s converted nto
heat. the raise i temperature of water at the bottom of the falls 1s nearly (specific
heat of water=42x 10 Tkg™* K1)

210m o o 28 20 do Aol A §0B8 HERYYE 60% (8= 3§ e 4703,
20 S0 BN 63 I8 &TUSS" dhride saravoyT (V8 DT =
42%x 103 Tkg L K1)
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Options :
1. % 0.6°C

5« 0.3°C
5 % 12K

4 % 24K

Question Number : 88 Question Id : 813561408 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An AM wave has 1800 W of total power content. for 100% modulation the carrier should
have power content equal to

25 AM ddofiaw S@ﬁo‘.mc‘bl 20820 &mgy‘m 2end 1800 W, ardaigﬁf’qﬁ 100%

GRS TS BloANNL) GotidvaR avmgéan

Options :
1 % 1000 W

5 1200 W

L« 1500W

1600 W

Question Number : 89 Question Id : 813561409 Question Type : MCQ Display Question
AP EAMCET 2020
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a perfect black body. the absorption coefficient is

DBLS SBRDD FThare Aoragaw

Options :
a=1

Question Number : 90 Question Id : 813561410 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a balanced meter bridge. the segment of wire opposite to a resistance of 70 Q is 70 em. The
unknown resistance 1s

o800 o6 ES° 70 0 A D619 TE) 70 em w0, 3BaH Weso dods?

Options :
1. ¢ 30 Q

, % 600

. 900
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Question Number : 91 Question Id : 813561411 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following options is correct for the object having a straight-line motion
represented by the following graph?

$o6s ArQodd S0 BIOANT 28 WY VOLEEr SrEs0E’ ADBAL oD
2rQochd, S0BT9 dodsed” DB H3H6?

§—>
Options:
The object moves with constantly mcreasing velocity from O to A and then it moves with constant velocity.

| % 0 oot A 568 S0 ?gCSQJKJ ;311".0‘1 Dototar scended. & ddTd gdén"f&l Tothodood.

Velocity of the object increases uniformly

5 % DRV aE). DS VEBAMT HESBVS

Average velocity 1s zero

T8 DS waém
3.
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The graph shown is impossible

4% ArDot)d DSB8 DG ReZIDH

Question Number : 92 Question Id : 813561412 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a force F is applied on a body and it moves with a velocity v, the power will be

w8 DY F 0erd) DoIrfotiotir(or o8 v STy Told SEOLIBUR) 6. AN,
208" 0 {5“:1)8“531 39D A6?
Options :

1w BV

2. x FIV

Question Number : 93 Question Id : 813561413 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A ballet dancer suddenly folds her outstretched arms. Her angular velocity
206085 " 0% RO[508 T Gotdd BB w8 o GG EDTE. B Eriandraw
Options :
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increases
1 v DDA

decreases
DA
n

remains the same
3 % SO

may increase or decrease
FelelpiuinbN gor BTN A
5]

Question Number : 94 Question Id : 813561414 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Resistance of a tungsten wire at 150°C 15 133 Q. Its temperature coefficient of resistance 1s
0.0045 °C™2. The resistance of this wire at 500°C is

150°C ¢ &0 28 Lo S ATSAD 133 Q. 6 &2 HEBE roeagan 0.0045 °CL,
500°C 3¢ & A B A0

Options :
180 Q

1. %

225Q

3 v 2580

4% 3179
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Question Number : 95 Question Id : 813561415 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

At high altitude. a body explodes which 1s at rest into two equal fragments with one fragment
receiving horizontal velocity of 10 m.s™*. Time taken by the two radius vectors connecting
point of explosion to fragments to make 90° is

AZNS B 3G DT-H0e WD) 28 SRV Tot) DAPETLIT DIIB. 28 Mot
Be) $82087086 1A 10m. 57 520 DS T30 oé vetu 50D

av5avg &% 90° Enaw dohedd AR

Options :

> % 4s

PR

43313

Question Number : 96 Question Id : 813561416 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A mass ‘m’ is in rest on an inclined plane of mass ‘M which 1s further resting on a smooth
horizontal plane. Now, if the mass “m’ starts moving under gravity, the position of center of
mass of system will

w8 )R £8 DAreds Sudw P M’ GHT3 o TL BV B. T P 8 603
M’ BVl GoB. Qalgcr% ‘m’ dE(6n SN 40803, & :355{3 sy Qb?gcr% Soghan

Options :
Remain unchanged
| % OT0 GO0

Change along the horizontal direction

L« 202 DATFeB0 B3" ArcrR

Move up in vertical direction

3 £822038 LoriatT D3

Move down in the vertical direction and changes along the horizontal
4 % 285 wor &S 3068 HHOHX BT N2 VATHE BFS” HTCRD

Question Number : 97 Question Id : 813561417 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The energy stored i a 50 mH inductor carrying a current of 4 A4 1s

4 A DS T eram &) 50 mH 96820085 Jox &olt 38

Options :
1.« 0.47

> % 4017
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3 % 0.8]

4 % 0.041]

Question Number : 98 Question Id : 813561418 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Find the apparent weight of a body of mass 1.0 kg falling with an acceleration of 10 m.s ™2,

(g~ 10m.s7%)

10 m.s2 asﬁeamﬁ S0 Do) 1.0kg Q,;:}]gu"%‘ o S d)BEro0 Jod?
(g~ 10m.s7%)
Options :

1kgwt

2kgwt

0.5 kg wt

Question Number : 99 Question Id : 813561419 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The displacement of a body when it covers a distance of “c/4” (where ¢ is circumference) along
the circumference of the circle of radius r with a uniform speed u 1s

T mébfg:m o 5d0002 RV c/4 [;.‘:ae;.‘.m ::i)l?g)ﬁvej e'] GrEA0 HOIrtetdE
DY) g“égcéa.u oJoeh?
Options :

1.% T

2. v TV2

2r

rf2

Question Number : 100 Question Id : 813561420 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two waves of frequency f and amplitude ‘a’ superimpose with each other. The total mtensity
is directly proportional to

f 3“&:@:)5313 ‘@’ S033 HOS (10 Bocd) AFoTre 4 TS 2,88 s%?aa;%m 090 &30
528 e9:0e) o dAne’ Sotnod

Options:

1% @

2a

3. %
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Question Number : 101 Question Id : 813561421 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A hydrogen like atom has one electron revolving round a stationary nucleus, If the energy

required fo excite the electron from the 2™ orbit to 3" orbit is 47.2 eV. find the atomic
number of the given atom.

28 TERD Do) HOATWY) a08), %d So@Ean AP w8 VS SALSE. &
VTR Totsd 84§ Aok WPESD S£(80 EBRDOLLN SV 35 47.2 V. AW,
&5 DODCERRY W), DOITERD Do vt

Options :

1.% 3

Question Number : 102 Question Id : 813561422 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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On getting reflected at a surface. the intensity of sound 1s found to be decreased by 20%. If ‘4’
be the amplitude of the incident sound waves, then the amplitude of reflected sound waves 1

28 B0 bg DTN FolR QS:J 838 20% éﬁégﬁ.\.‘: Sf T) . 28R ddof
SoDDIBNS ‘A’ eod. HTHEN BBerdD SoDHIBNS Jod?

Options :

4;‘-1
5

&

ml“

=
ol =

Question Number : 103 Question Id : 813561423 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A light wave has a frequency of 4 X 10** Hz and a wavelength of 5 X 107 m in a medium.
The refractive index of the medivm is

28 QirR%ed’ 28 S8 dbotfo AN, FREYI[o 4 X 10™ HzoBakw Bbof B3¢0
5% 107m. ©00 & ardso dg), S3859 Mrgo Jod?

Options :
| v 15
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, » 133

1.0

, = 0.66

Question Number : 104 Question Id : 813561424 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A particle is moving an x-axis has potential energy U = 2 — 20x + 5x* I along x-axis. The
particle s released at x = —3. The maximum value of x will be (x 15 i meters and U 15 m joules)

-5 Dot R & i) S 20 88 U=2-20r+ 5¢° ] Q) 1= -3 3¢
269, x aing), A8 ewd [x g &%, U F°¢8' eyav ]

Options :

1 % om

Question Number : 105 Question Id : 813561425 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The average kinetic energy of H, molecules at 300 K is E . At the same temperature the average
kinetic energy of 0, molecule 13

300 K 565 H, 650t Gog), (1598 E. 0f 668 56 0, D0arm) g 19 93

Options :

£
1.+

16 E

Question Number : 106 Question Id : 813561426 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The escape velocity for a planet whose radius is 1.7 X 108 m and acceleration due to gravity

is1.7m.s s

28 (A0 Jg&gan 1.7 x10%m, o (eB(6e0 1.7 m. s72. 08 €5 (A
HEraDHDAAD

Options :
1.7 km.s™1

1. %
289 km.s™ !
2. ®
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3.9’,1.?\5 km.s

4 % 3.4 km.s™ 1

Question Number : 107 Question Id : 813561427 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

At what height from surface of earth the value of acceleration due to gravity will fall to half
that on the surface of the earth?

Ar 60880 Aok Jod) I ;3(5_;) mms @Scﬁﬁo eV Hr &Hddwe h)f,ﬁéoéj TS
2ETA00d

Options :

| % 2625 m

5> 2625 km

3 % 2526 m

2526 km
4. %

Question Number : 108 Question Id : 813561428 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Choose the physical quantity pair with the same diumensions

2,8 (A7) dodoew Ao T HST-Row 236

Options :
angular momentum and work

- Eeobh BaDAAD 208k DY

work and torque

5 ¥ DR 8o (6f) ) wwETrSH

potential energy and linear momentum

BRI 20800 DD G35 A
3.

kinetic energy and velocity

. (52 BS Sodain Dridw

Question Number : 109 Question Id : 813561429 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Practically ozone layer absorbs radiations of wavelength

L5 T8 3ot 860300 50 DEGTFLR SBEETS) Lorr Fidpo BROL0OH?

Options :
Lessthan 3 x 1077 m

3 x 1077 m Sotl LEVRY
1.9

Greater than 3 X 1077 m

5 % 3% 1077 m ot JJEJG;ﬁ
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Equalto 3 X 107" m

L x 3% 1077 m S DATHDD

All of these answers are correct

4 % fa.‘bb;lcm: 20 2e0en

Question Number : 110 Question Id : 813561430 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Simultaneously, from the top of a tower, when ball-1 is thrown horizontally and ball-2 1s just
dropped. in the absence of air resistance which among the following options is correct?

o)) Dbﬁmﬁi 65&6‘&')% e By, w8 ‘:annr:};.‘m D5 2000 15 2108 K 288 HATeSEorT
D8, 93 DI’ 2 LoD §0bS a&&a%m, & o f’g;bt.ﬁa“vé‘ 20 udn?

Options :
Ball-1 reaches the ground first

| % B09-1 20GH D B

Ball-2 reaches the ground first
5 % 208-2 A0GL Fora) B

Both will reach the ground simultaneously
v B0t edodiyen 2,88 Zradd S

Either ball-1 or ball-2 reach the ground first depending on which ever is heavier

. 208-1 D), L08B-2 T 28 ag%:a 8IE0D) G06) 9E DL FIPaR) WA
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Question Number : 111 Question Id : 813561431 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a photodiode. the value of the e.m. f. produced by a monochromatic light beam i
proportional to

w8 D56 500 T caré Qoo DAY D6\ e.m. f. (Deojeryws o)
& 093065 BTN otwod

Options:
The barrier potential at p — n junction
p —n Rod TG 35 20

The intensity of light falling on the photodiode

o DEEErE DS DED 570d SIS

The frequency of light falling on the photodiode
| TY&'aare 6 DED Sod JDEHE[

The voltage applied at the p — n junction

D — N Dod HE RIB STB
4_ W ("] i (5]

Question Number : 112 Question Id : 813561432 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The coefficient of mutual inductance between the primary and the secondary coil of a
transformer is 0.2 H. When the current in the primary changes by 5 A.s ™. the induced

e.m. f. in the secondary will be

2,8 DB ag), TGS, ABDH A B B06y 955:35 20833 0.2 H.
T & wons’ Dexd pore Sy B 5 A.5 71 eans, BB & dors®
ptels :Jmém;)us a0 (e.m. f.) Dend SAfndw.

Options :
1. % BV

> @ 1V

4 % 10V

Question Number : 113 Question Id : 813561433 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A magnet of magnetic moment M is rotated through 360° in a magnetic field H. the work
done will be

OI) 08 GPa0SAW M (1) 90 08" B0 08 ESS0 H & 360° Erasn (o
DT, 603 HI

Options:

\ x MH

, % 2MH

AP EAMCET 2020



AP EAMCET 2020

Question Number : 114 Question Id : 813561434 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Three charges 4q, Q and g are placed at positions 0,1/2 and [ respectively along a straight line,
If the resultant force on q is zero. then Q is equal fo

8 20V 82 2068 0,1/2 Bos0 | Dotko 36 49, § B g SHTV JWT o
g 3330 ocs DS LKL A LN, Q Desd

Options:

1.¢ 1
5. % 24

3 % —q/2

g % 2O

Question Number : 115 Question Id : 813561435 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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PQ represents a wave front and A0 and BP., the corresponding two
rays. Find the condition on ( for constructive interference at P

between ray BP and reflected ray OP

HRA’ PQ 6o OhJng Bock 8drren A0 Adain BP
BrHLGN). 6820 BP B0k ::mg;}mana S6man 0P ©

m‘:’ﬁ Q2P bcﬂ? Tod) Rod) o ;ﬁéeﬁédmm 20068 o Aodd

Options :

34
cos =—
cos@ =—

2. g

Question Number : 116 Question Id : 813561436 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The radius of the bore of a capillary tube 15 ‘r” and the angle of contact of the liquid 1s ‘6", When
the tube is dipped i the liquid. the radius of curvature of the meniscus of iquid rising i the tube 15

w8 BE08 gy Tfrdo 1 Q8 20\6 80 ‘"8 TV Y’ 20D Feds® D6dd
o0 ag), Sge 355"20

Options:

1 % rsin @
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> % sin@

rcos @

cosf

Question Number : 117 Question Id : 813561437 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

There 1s no change in internal energy of an ideal gas when it undergoes

©3656 TAVDS” WoBEB IS Gy DY GoE?

Options :
Isothermal expansion

280 egﬁgau D30k

Adiabatic expansion

, dBHE DEa

£

Free expansion

BN~ N ﬂ“ég 900

Isobaric expansion
RO DED TgE AW
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Question Number : 118 Question Id : 813561438 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When two bodies collide elastically. then

G0t SRV DSFDEerT GE 083, e953)cd

Options :
Kmetic energy of the system alone is conserved

DD ALY, (8238 J°GD0 DSBS

Only momentum 1s conserved

@;ﬁé;ﬁrio AT :)e:ﬁéejfjmangocﬁ

Both Kinetic energy and momentum is conserved

(13283 00N GO(DMeN Toto™ AB{BLAVT Eotran

Neither kinetic energy nor momentum is conserved

(D23§ 20Ba30 SIDMTeD Todtde” DD JB{BLAD 5°Y.

Question Number : 119 Question Id : 813561439 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following parameters does not characterize the thermodynamic state of matter?

$oAT S Qbﬁ;m Qs axg.;; gl f&)@b APLotia) DTS

Options :
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Temperature

aggej

Pressure

SNESDAD

Work

Volume

2R 20T,

Question Number : 120 Question Id : 813561440 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The retarding potential necessary to stop the emission of photoelectrons. when a target materal

of work function 1.24 eV is irradiated with light of wavelength 4.36 X 1077 m is

1.24 eV 33 pdaddw v ?.)55 :mugm;.g 4.36 X 1077 m 6o gg%an ) S0 S50
DB BoBIY Y T8 MWTAL GTTD) BYLE 5HIND W TOJaE Dewsd

Options :

4.08 eV

1. %

, % 2.84eV

5 v 160V
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4 % 0.36eV

Chemistry
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 813561441 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the coordination number of Na™ in NaCl crystal. given radius of Na™ and C1™ are
95 pm and 181 pm respectively.

Na*,Cl” wosrs THOTR0 SARIT 95 pm, 181 pm @ B0\d0ond, NaCl vyBsed’ Na'
mmxgcm ’fooa}aé Qdodh ?

Options :
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Question Number : 122 Question Id : 813561442 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The yellow color of chromate ion and orange color of dichromate 1on is due to

&' 2085 e90rR0L) (0 DRV Gord 2805 EE Dew BaHRL (o) THo G TERAY

Options:

d — d transition only
d — d 289 srdd

Charge transfer only
5330 & A

2. %
Both d — d transition and Charge transfer
L, 4-d 260 208030 D350 WEY Bocdd)
s — d transitions only
s — d 08O ATrsD
4. %

Question Number : 123 Question Id : 813561443 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Gas ‘X’ 15 obtained on heating KC104 with catalyst Mn0,.This gas (in excess) on reaction with
white Phosphorus forms an acidic oxide Y™, *Y” on dissolving in water forms a compound “Z’.
Identify X. Yand Z

KC10; & Mn0, 681680 2:205:008° 3¢ BaHre X' Tai) S8, 06 8y
Fioy00 & 06% g0 36] Job 'Y’ 0 i) 63\ ) D6yBIB. V' A’ 48RS Z
29930 D6\336. X, Y, Z 0 thoitod

Options :
| 05, P05, H3PO4

03, P,0s, HyPO,

2. %

0z, P;05, H3PO;

3. %

4 % 02 P20s, HyPOs

Question Number : 124 Question Id : 813561444 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ‘Dry ice’ 1s
TG00t

Options :
Dry CO, gas

| x T&CO, TosD

AP EAMCET 2020



AP EAMCET 2020

Solid €O,

208 €0,
2. %

Dry 50, gas
TE 50, To50D)

Solid NH,
205 NH,

Question Number : 125 Question Id : 813561445 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following is used in detergents?

Sod T3S B CTo)S” &DATAYED?

Options:

Sodium acetate

o Yowo D266

Sodium stearate

~ Jc.odo DTS
2. ® =

(Calcium stearate

ooy oo
3. ® ol [=%] =

Sodium lauryl sulphate

oo 0TS DS
4.9 -
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Question Number : 126 Question Id : 813561446 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following complex 1on shows geometrical 1somerism?

0B T85" 28 3“63;?53; @dﬁf}ﬂﬁ “n}cé‘gn D&?

Options :
[CT(Hz 0]4 CE?_] F
v

- [Pt(NH3)5c?

[Co [NHs)a]H
3. %

[Co(CN)s (NO)I*™

Question Number : 127 Question Id : 813561447 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following molecules can be represented as AB, E,. where A- Central atom. B-
Bond pairs of electrons. E- Lone pairs of electrons

$oBT 8" © LA ABE, Groing’ &)y robivdn? @86 4-Sodé H6ArmeY,
B-206620% JUSS 20d), E- 20t JUTD 210 00 Ardidd) .

Options :
50,
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2. %

Question Number : 128 Question Id : 813561448 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following s used as a food preservative?

0BT’ sk DT Do BaHEE &Rt (RTED) Rosde DTG 207

Options :
CEHECHE ONa

1. %
, % CeHsCOOONa

. o CsHsCOONa

, x CellsCH = CHCOONa

Question Number : 129 Question Id : 813561449 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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0.12 g of an organic compound ‘X" containing phosphorus on reacting with magnesia mixture

gave 0.22 g of magnesium pyro phosphate (M g,P,0-). The percentage of phosphorus in the
compound ‘X’ 1s

3“&}365} §0A 0.12 raww 5"%5 Fa;iay;‘a‘)an mﬁ‘lbcx‘i? 03008 Rl Tol 0.22 raow
mﬁlﬁlobo b 3“1}3&5 (Mg,P,0;) & 'a*tﬁtb&‘:;c?). B900A) &3 ‘bﬁ)&'ﬁﬁ)oﬁﬁ 3‘“’:0;)6?3 VRV
Tdo fitdotdoc..

Options:

1 % 45.30 %

, x 2870%

3 % 64.25 %

4 51.20 9%

Question Number : 130 Question Id : 813561450 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s not correct?
A, Reduction of alumina to give aluminum by magnesium s thermodynamically feasible

B. The pomt of intersection of Al05 and MgQ curves in Ellingham diagram is below 1665 K
C. Use of magnestum as reducing agent i metallurgy of aluminum 1s economical

D. Ellingham diagram represents the graphical plot of Gibbs energy vs temp. for the
formation of the oxides of common metals and reducing agents

S0 THE H0 52 DA DA?
A. BRP(ELT K0ot) BRI SaHS6EH GRS TR0 YEEAD SV

B. ofi 50 Ogrod® A10; 208050 Mg0 © 35500 Dot Deddd) 1665 K ot
343 6ot

C. & ?"gmé‘ ww&ﬁﬂ)a‘bm Sped iy G mﬁl?ao‘.bom SoDEET Tl
rHmr0S AW

D. ¥oron &' 36 Bk EOSBMY T8 ﬁeﬁm 2, &gﬁgﬁw 06
Rotocsaw 895 Gar DI Mooy D Botrd)

Options:
1.% A

Question Number : 131 Question Id : 813561451 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Number of different bonds present in P,044 15

P,04p & 60 D6 o Roady

Options:
8P —0 bondsand 4 P = O bonds

8P — 0 oren 000i0 4 P = 0 eiolTrew
1. &

12 P — 0 bonds and 3 P = O bonds

5 % 12 P — 0 eyoreny 2000300 3 P = 0 elole

12 P — O bonds and 4 P = O bonds

3 ¥ 12 P — 0 )orey 2008030 4 P = 0 eioen

8P — 0 bondsand 3 P = O bonds

4 8 P — 0 eoren 2008aiw 3 P = 0 iolren

Question Number : 132 Question Id : 813561452 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The order of boiling points of the following compounds 1s:

808 DIV FTV T BHD &G0 VOIS SA0BW

(CHs)sN CHsCH,CH,NH, CH3CH,NHCH,
(1) (i1) (i11)
Options :

- (1) = (111) = (ii)

AP EAMCET 2020



AP EAMCET 2020

5.« (i) > ) > )
, (@) @) > (i)

4 o (@) (i) > @

Question Number : 133 Question Id : 813561453 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The rate of a reaction doubles when the temperature is changed from 300 K to 310 K.
Activation energy of the change is (R=8314J.K L. mol™).log2 = 0.301]

300 K oot 310 K 568> &' 2008 t56§ 36 50wy owda. to| awwg) adas 34
(R=8314J.K L. mol™) H0Batw log2 = 0.301

Options:

- -1
| 53.6 kJ.mol

486 kJ.mol™?
2. ®

-1
3 % 58.5 kJ.mol

~ 60.5 kJ.mol™?
4. %

Question Number : 134 Question Id : 813561454 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Which of the following statements 1s correct about photoelectric effect?

A. The number of electrons ejected from metal surface 1s mversely proportional to mtensity of light
B. Below threshold frequency. photoelectric effect can be observed

C. At higher frequency than threshold frequency. the ejected electrons have certain kinetic energy

D. At higher frequency than threshold frequency. the electron is still on the metal surface

50 Dei(S DDA ool $08 pusds0Ls’ D6 adn?
A, 6ty 6B oot HBotint A0FH o] 5708 Bt D A Ss’ Gocdid
B. estozs TR0 Sotd 3.5 PR 36 S 08 Defofd DS Hisborday
C. 8602 02530 ot ey 3 Fidipm 38 Josideh Eod 119 9§ Gty

D. etod 3“&::3_)&5.31} S0l JQJG:) 3}%5.1)&)5.‘1.1) ;ﬁg J)?.@S &SP 6HBSVAN D WEETT Gotod)

Options :

1. % A

Question Number : 135 Question Id : 813561455 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The oxidation mumber of an element m a compound 15 evaluated on the basis of certain rules.
Which of the following rules 1s not correct?

A. The oxidation number of hydrogen 1s always +1
B. The algebraic sum of all the oxidation numbers of all elements 1 a compound 1s zero
C. An element i the free or the uncombined state bears oxidation number zero

D. Inall its compounds. the oxidation number of fluorine 1s —1

WS SUPVSAN CIOS) es%édm RoR(R) §) AODATVR B0 K}gm@”cﬁo. & 808
AahAres” 96 28 s?

A TEES w8y86m Do) dYyE +1

B. 23 ¥A:ané") duresy D 0BAN B[

& iasx:’san“ AR FS T WoBottIEa) resan e.s%ﬁdca "n)oa;‘g a:ua%ma

D. '8 aws) eabl :a;fnyéanm‘ﬁf) ) e.a&bs:jea o3 —1

Options :

1.¢ =

Question Number : 136 Question Id : 813561456 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Calculate the amount of C0, gas produced. when 32 g moles of CH, 1s burned with sufficient
amount of oxygen. (Given atomic weights of € = 12,0 = 16,H = 1)

320 7S © CH, & 9Nd0d 88135 ToDS® 20doddKY dod 6w (0,
25067 (Sgrorndw: vt € = 12,0 = 16,H = 1)

Options :

1329

Question Number : 137 Question Id : 813561457 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Assertion: Standard boiling point of a liquid 1s shightly higher than the normal boiling pont

Reason: 1 bar pressure is slightly less than 1 atm pressure

6,056m: 28 38 PATR PATSI o T FErom AR o oth Earr ey 3
s6mo: 1 er6(bar) H&do 1 oer) (atm) Do ot Eam g4

Options:
Assertion and reasoning are correct statements and reason is the correct explanation for assertion

§ 3,00 300030 500 VOGN VST, TG0 GIL0RS B D62 A3
1.
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Assertion and reasoning are cotrect statements and reason is not the explanation for assertion

18068 20005 T6t0 POALH DIV, S6t0 GNEEHE HBAVD D6 TG

Assertion is correct. reason is Wrong

L BDSCE DBELIG, S°Cr0 DOTIG TG

Assertion is wrong. reason is cotrect

Dt DY, 560 HBDDE
A &) Dy o O3

Question Number : 138 Question Id : 813561458 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which transition metal oxide among the following has electrical conductivity similar to that of
copper?

$ob:TI6" D D036% w8 8316 THE WArD HAFPoT JEEERSS $80 Gotvod?

Options :
1 % MnO

ZQFE’U

3 RE‘:Og

TiO0,

Question Number : 139 Question Id : 813561459 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The non-aromatic compound among the following is

$08778S° JFITDE DI TS 5208 DB ?

Options:

Question Number : 140 Question Id : 813561460 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements is correct about “shielding effect™

A. It1s effective when the orbitals in the inner shells are completely filled

B. Inner shells do not show any effect
C. With increase of shielding down the group. ionization energy increases

D. With mcreasing nuclear charge, the shielding effect increases

DB6EE DAPSANBE oe)0Bod) SoBTHE D HAHDA0 1O SOVHE?
A 600 8508 B8P QPO Dodwd A D B8 DPSN
B. 086 S0 Ao DA €rd
C. (75 6" dorse Mg 2B8Em DbrdBved St LD #3 Héorbrod
D. So3¢ e3808" DAMHELS HB6LE DT DifEE

Options :

1.4 A

Question Number : 141 Question Id : 813561461 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following compounds are formed when boron trichloride is treated with water?

0D O §06 R0 O 5] ToBodi S0 THS' D DAY FTU DoycoR?

Options :

. v HaBO3 + HCI

, » BaHe + HCI

o x B20s + HCI

, « HBO3 + HCI

Question Number : 142 Question Id : 813561462 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

“No two electrons in an atom can have the same set of all four quantum numbers”. This
principle is called

28 DOATEDYY” D Totd VT 28 WA o TR TR oL GodarE.
& DOHAT) D0 HeFe?
Options:

Zeeman Etfect
| w 8300 DS

Pauli’s Exclusion Principle

I 563 FardHan
2. &
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Stark Effect

6, DO
3. % @

Heisenberg Principle

L ARG DasD00w

Question Number : 143 Question Id : 813561463 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Intermolecular forces i nylon-6.6 are

Derd-6,6 &5° e0ciCerR LRTVL) S°ERAD

Options :
Dipole — dipole interactions

- BLED- BLRD DORNG tﬁdém

Hydrogen Bonding

e 2D Lomren
2.¥

WVander Waal’s forces

. T ES T eeren

Tonic bonds

4 % 903" VS L)oTeD

Question Number : 144 Question Id : 813561464 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The main constituent of vinegar is

DDHAGS° HEPD RDVLEIL

Options:
Formic acid
a“ﬂég e3:050

Oxalic acid
HS“JE}E e300

Nitric acid
NIE Lo febleby

Acetic acid

QIS e300
\_“/ o ]

Question Number : 145 Question Id : 813561465 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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What will be the product A in the reaction given below?

AP EAMCET 2020

806 BO5E" &dy) S0 A DE?

CH:
NO:
Options :
CHs
NO2
NGO
1. %
CH;3
NO2
NO»
2. ¥
3. %

Conc. HNO¢

e HNO:
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CHs3
OoN NO»
NGO,
NO»
CHj

Question Number : 146 Question Id : 813561466 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Oxidation number of Cr in [Cr(CO),] is

[Cr(CO)g] &° Cr e98+56e3 Roay

Options:

% +6

2. % —6

+ 3
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Question Number : 147 Question Id : 813561467 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is not a semisyuthetic polyvmer?

0BT S’ ©8 £, FH06 =06 S ?

Options:
cis-poly 1soprene

25- > oIHdD

Cellulose nitrate

Deed’E DS

Cellulose acetate

2e0eSE IDEHS

Vulcanized rubber.
;:m_%gﬁ DD dmam

Question Number : 148 Question Id : 813561468 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The types of hybridization on the five carbon atoms from left to right in pent-1-en-4-yne are

Dotf-1-89-4-03 aog), D S6)S DEAFEHVE’ A Aot) 88 VeSEECE0Y 657
Options :
sp?, sp?, sp?, sp, sp

1.¢

3 2 2
5 % sp, sp, Sp, sp, Sp

- sp®, sp?, sp, sp, sp®

L w sp?, sp, sp°, sp, sp*

Question Number : 149 Question Id : 813561469 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the products indicates the presence of Sulphur atom in an organic compound. i
qualitative elemental analysis?

SO ﬁﬁ:&?mvé‘.ﬂ) orrd)$ DF0RG" & S0 TG D 63190, 56y ‘é:a;ﬁ:;()}%amﬁ‘
206 68D APB?
Options :

1 % FEESO4

5 % Zns

ﬁf’fg.g
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PbS

Question Number : 150 Question Id : 813561470 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The uncertainty in the position of an electron moving with velocity of 3 X 10* em/s is

(given mass of electron = 9.1 X 10™%8, uncertainty in velocity = 0.02% )

3% 10* om /s Driod SDotiatididy WSS Aog) gwxaoé‘ @B B0 fitdorsol
(Sgrodo: dUES @I(0"3=9.1 X 10778, SrfodS” 8 deg0= 0.02%)
Options :

1.8 x 1072 om

9 x 107 cm
2.

3 % 3.8 x10 % em

1.8 x 1074 em
4, %

Question Number : 151 Question Id : 813561471 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When ShF: reacts with XeF; to form an adduct. the shapes of cation and anion in the adduct
respectively are

XeF, & w56) Job ShF5 00888 w0y vard) D608 & 008D W] wee'd

SPR0ITR 20005 BRACITAY e55E00 SERT

Options :
Square planar, trigonal bipyramidal

SRR DAB0, SEROD BRPE(S o

T-shaped. octahedral

5 & T-e55"Co, ﬁ:g@e_};

Square pyramidal. octahedral

(L Sletsl mm“é?dﬂ, RNDVS

Plane triangular. trigonal bipyramidal

L w SE 3ol DABo, GERAD BIRrTTS 6o

Question Number : 152 Question Id : 813561472 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is not a characteristic of chemisorption?

& 808 T75° G AN AT HRAVILD der s a0 06 AB?

Options :
Adsorption 1s highly specific

- ©OT R0 B[ DFRIDHE
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Heat of adsorption is around 400 kJ.mol™?

- u@%‘aﬁg{a 205760 400 kJ.mol™?

The process is irreversible

- e 0B20e30% DEaDH

It forms multimolecular layer

4 e95E eor TGO ‘;}tjﬁt‘j::.‘um

Question Number : 153 Question Id : 813561473 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 200 W,100 V bulb 1s connected in series with an electrolytic cell. If an aqueous solution of

an Sn-salt is electrolyzed for 5 hrs. 11.1 g of Sn gets deposited. The chemical formula of the

compound 1s (Given atomic weight of Sn is 118.7 g mol™*

28 200 W, 100 V weioyio Sn wdeacn S840 20 )| $c3¢5” 93000t HA B 5
o) e 33@5935?5:{#: 208, 11.1 g Sn Di:g:m BONAE. “r&&f}&é@é e VN
;}méef (Sgrogan: Sn oIg), errs 118.7 gmol ™)

Options:
1 = Sn0O

5 % SnCl,

3 ¢ SnCly
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4 % Sn0-

Question Number : 154 Question Id : 813561474 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An example for hvdrophobic sol among the following is

0BT ;rETDE FS D 28 ETITOR

Options :
(Gum solution
200 Traoea)

1. %

Arsenic sulphide solution

S RUNG BR800
\_‘/U;} n:ﬁn_;} LI7a083

Starch solution
. ‘?:.’”55 (Dol ) Trodeo

Protein solution

. TS gronaw

Question Number : 155 Question Id : 813561475 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Strongest conjugate base among the following 1s

$oHT°DS" edjod VBOND VA 8o BT

Options:
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gl=

Br~

Question Number : 156 Question Id : 813561476 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Match the items of List-I with those of List-II and choose the correct option given below,

List-I List-II
a) Calcination 1. Galena
b) Roasting il. Magnetite
¢) Magnetic separation i1, Pyrometallurgy
d) Carbon reduction of metal oxide iv. Malachite

13 :Jegs@i‘ fe) oo 25 :Jggéé‘ L ARD WoTOE 28 DOBS

01 R |
[ 4] 4]
a) 20,5605 i 0
b) #H6d3W i Sorehy e
& a_
¢) eobIodand S Safoe i e S FRaw
d) &' 83yE 2 5°6)D & gohEbotot) iv. Aregd

Options :
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LN, DO, -G, &) ),
_ a)— (iv), b)—= (), c)— (i), d)— (i)
) a) — (i), b)— (iv), c) — (i), d) — (ii)

. a) — (iii), b) = (i), o) —=(@G), d)-— (iv)

Question Number : 157 Question Id : 813561477 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a reversible reaction, if the concentration of the reactants 1s reduced to half. the equilibrium
constant will be

28 agm%m; z:ﬁszeSG SAIradEY MEAVA TS e:bﬁo:‘.'):ﬁ.‘g)&da, ) “com@“?g@
TS50

@

Options :

Doubled
Eego:g_) earioa

Halved

L Pfio e

Reduced to one-fourth
Treriad SHodosy ejgbm
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Remains same

QG0 Gokd
4.

Question Number : 158 Question Id : 813561478 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The temperature at which 4 moles of a gas occupy 5 dm? volume at 3.32 bar pressure is

5 dm’ 20000, 3.32 bar(6r6) HEddw 3¢ 4 arde Toww aws) &J6d

Options:
1.« 20K

, % 50°C

L e

. 100K

Question Number : 159 Question Id : 813561479 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s incorrect?

A. The property of liquid drops to have minimum surface area is called surface tension
B. Surface tension of liquids decreases with rise i temperature
C. The STunit of surface tension in N.m ™

D. Magnitude of surface tension is less when there is strong attractive force between the molecules

808 DISTVE’ HOTA DI DB?
A, G5%0Rn 88,3 G080 JPV[oR) ¢9A &oll B0\ SVBR(S Botrt)
B. Egﬁﬁej bolalols} évééﬁé e‘.’sg.‘)ei)o&
C. Sudyd S| 9drmo Nom™

D. e D6 w0 56n Lo &o) B0BR(S 200 dfodod

Options:
A

1. %

Question Number : 160 Question Id : 813561480 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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What is the hybridization of Be in BeF, molecule?

BeF, oﬁ“méef (e e’ Be Pos68650 08 ?

Options :

| % dspz

spid

2. %

3. v °F

4, % SP
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